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Question Numbers : (1 to 5)
Question Label : Comprehension



Captain Vs Generals
Pak army doesn't want to take over govt but it doesn't know how post-Imran-arrest protest will pan out

Following Imran Khan's dramatic arrest on Tuesday. Pakistan's 'polycrisis' has not only deepened but also
morphed into a systemic question for that country. There can be no doubting that the manner of khan's arrest -
it 1s the paramilitary Rangers that picked him up from the premises of the Islamabad high court was meant to
send out a clear message to the former Pakistani PM: that he had crossed a red line by repeatedly pointing
tingers at Pakistan's military-security establishment. But Khan has emerged as the most popular Pakistani
leader in over a decade. And his refusal to play by the army's hybrid regime playbook has brought Pakistan to
an inflection point.

As protests by Khan's PTT supporters spread. the hybrid regime 1s facing its sternest test. By all accounts the
Shehbaz Sharif government wants to delay national polls scheduled for later this year.. It hopes this will take
the wind out of Khan's political sails as cases pile up against him-the latest being the indictment in the
Toshakhana case. But if the protests sustain, army chief Asim Munir would be forced to make a tough choice
either directly step in and take control or put at risk the army's pre-eminent position in Pakistani society. The
generals have played the role of Pakistan's stabiliser for decades. notwithstanding messy outcomes.

However, another military takeover would be tricky today’s geopolitical climate. Pakistan's salience in
mnternational politics has rapidly declined over the last decade. particularly after the US withdrawal from
Afghanistan. True. china is still a benefactor through its CPEC projects. But that closely tracks Beijing's
strategic and mercantilist interests. Therefore. without US backing. a Pakistan under generals would likely be
shut out from IMF bailouts its dysfunctional economy needs desperately - forex reserves are still paltry,
inflation is climbing and there's widespread general hardship.

Thus, General Munir will try his best to sustain the hybrid regime. He may even choose to allow the protests to
continue till calls for more robust intervention arise. But popular movements are unpredictable. While we are
not there yet. India should watch out for cracks in the Pakistani military establishment. Pakistan i utter chaos
15 not good news for India.

Sub questions

Question Number : 1 Question Id : 6863406371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Call before a court to answer a criminal charge is

1. Order

| B

. Allegation
3. Arraignment

4, Arrack

Options :

68634025201. 1
68634025202. 2
68634025203. 3
68634025204. 4



Question Number : 2 Question Id : 6863406372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Indictment means
1. A written paper that officially accuses of a crime
2. A poem on love
3. A story based on true facts
4. A written letter stating apology
Options :
68634025205. 1
68634025206. 2

68634025207. 3
68634025208. 4

Question Number : 3 Question Id : 6863406373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Salience means
1. Silence
2. Prominence
3. Parts which are hidden
4. Keeping quite n a public place
Options :
68634025209. 1
68634025210. 2

68634025211. 3
68634025212. 4

Question Number : 4 Question Id : 6863406374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pakistan's prominence in world politics declined gradually. The facts which are true regarding this are:
A Over the last decade.
B. After the US withdrawal from Afghanistan.
C. Pakistan was never prominent in world politics.
D. China 1s a benefactor of this declination stated above.
1. A.C.D only
2. AB only
3. AD only

4. A.C only

Options :

68634025213. 1
68634025214. 2
68634025215. 3
68634025216. 4

Question Number : 5 Question Id : 6863406375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Asim Munir would be forced to make:
A. A tough choice.
B. choice of directly stepping in and taking control.
C. choice to put at risk the army's pre-eminent position in pakistani society.
D. To stop china from taking advantage in CPEC projects.
1.LAB
2.AB.C
3.AB.CD
4. only A
Options :
68634025217. 1
68634025218. 2

68634025219. 3
68634025220. 4

Question Id : 6863406370 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time



: N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension

Captain Vs Generals
Pak army doesn't want to take over govt but it doesn't know how post-Imran-arrest protest will pan out

Following Imran Khan's dramatic arrest on Tuesday. Pakistan's 'polyerisis' has not only deepened but also
morphed into a systemic question for that country. There can be no doubting that the manner of khan's arrest -
it 13 the paramilitary Rangers that picked him up from the premises of the Islamabad high court was meant to
send out a clear message to the former Pakistani PM: that he had crossed a red line by repeatedly pointing
fingers at Pakistan's military-security establishment. But Khan has emerged as the most popular Pakistani

leader in over a decade. And lus refusal to play by the army's hybrid regime playbook has brought Pakistan to
an inflection point.

As protests by Khan's PTI supporters spread. the hybrid regime 1s facing its sternest test. By all accounts the
Shehbaz Sharif government wants to delay national polls scheduled for later this year.. It hopes this will take
the wind out of Khan's political sails as cases pile up against him-the latest being the indictment in the
Toshakhana case. But if the protests sustain, army chief Asim Munir would be forced to make a tough choice
either directly step in and take control or put at risk the army's pre-eminent position in Pakistani society. The
generals have played the role of Pakistan's stabiliser for decades. notwithstanding messy outcomes.

However, another military takeover would be tricky today's geopolitical climate. Pakistan's salience in
international politics has rapidly declined over the last decade. particularly after the US withdrawal from
Afghanistan. True, china is still a benefactor through its CPEC projects. But that closely tracks Betjing's
strategic and mercantilist interests. Therefore. without US backing. a Pakistan under generals would likely be
shut out from IMF bailouts its dysfunctional economy needs desperately - forex reserves are still paltry.
mnflation is climbing and there's widespread general hardship.

Thus, General Munir will try his best to sustain the hybrid regime. He may even choose to allow the protests to
continue till calls for more robust intervention arise. But popular movements are unpredictable. While we are
not there yet. India should watch out for eracks in the Pakistani military establishment. Pakistan in utter chaos
1 not good news for India.

Sub questions

Question Number : 1 Question Id : 6863406371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Call before a court to answer a criminal charge is

1. Order

[ ]

. Allegation
3. Arraignment
4. Arrack

Options :

68634025201. 1
68634025202. 2
68634025203. 3



68634025204. 4

Question Number : 2 Question Id : 6863406372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Indictment means

1. A written paper that officially accuses of a crime

| B

. A poem on love
3. A story based on true facts
4. A written letter stating apology
Options :
68634025205. 1
68634025206. 2

68634025207. 3
68634025208. 4

Question Number : 3 Question Id : 6863406373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Salience means

1. Silence

| )

. Prominence
3. Parts which are hidden
4. Keeping quite in a public place

Options :

68634025209. 1
68634025210. 2
68634025211. 3
68634025212. 4

Question Number : 4 Question Id : 6863406374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pakistan's prominence in world politics declined gradually. The facts which are true regarding this are:
A Over the last decade.
B. After the US withdrawal from Afghanistan.
C. Pakistan was never prominent in world politics.
D. China 1s a benefactor of this declination stated above.
1. A.C.D only
2. AB only
3. AD only

4. A.C only

Options :

68634025213. 1
68634025214. 2
68634025215. 3
68634025216. 4

Question Number : 5 Question Id : 6863406375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Asim Munir would be forced to make:
A. A tough choice.
B. choice of directly stepping in and taking control.
C. choice to put at risk the army's pre-eminent position in pakistani society.
D. To stop china from taking advantage in CPEC projects.
1.LAB
2.AB.C
3.AB.CD

4. only A

Options :

68634025217. 1

68634025218.2

68634025219. 3

68634025220. 4

Sub-Section Number : 2
Sub-Section Id : 686340197
Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 6863406376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Right-wingers believe that ceasefire 13 no solution to Kashmir problem . We must have the will to

1. Kiss of death
2. Win laurels
3. cut the Gordian knot
4, jump the gun

Options :

68634025221. 1

68634025222. 2

68634025223. 3
68634025224. 4

Question Number : 6 Question Id : 6863406376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Right-wingers believe that ceasefire 13 no solution to Kashmir problem . We must have the will to

1. Kiss of death
2. Win laurels
3. cut the Gordian knot
4, jump the gun

Options :

68634025221. 1

68634025222. 2

68634025223.3
68634025224. 4

Question Number : 7 Question Id : 6863406377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the appropriate one word substitute for:
A person who shows selfless concern for the well-being and happiness of others

1. Parsimonious

2

. Altruist
3. Maverick
4. supercilious
Options :
68634025225. 1
68634025226. 2

68634025227. 3
68634025228. 4

Question Number : 7 Question Id : 6863406377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the appropriate one word substitute for:

A person who shows selfless concern for the well-being and happiness of others

1. Parsimonious

2

. Altruist
3. Maverick
4. supercilious

Options :

68634025225. 1
68634025226. 2
68634025227. 3
68634025228. 4

Question Number : 8 Question Id : 6863406378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



My great uncle's gift of several lakh rupees was enough to AMELIORATE my financial condition. Which of
the following words is opposite in meaning to the word in capital letters

1. PRECIPITATE
2. SEGREGATE

3. AGGRAVATE

4, SURPASS

Options :

68634025229. 1
68634025230. 2
68634025231. 3
68634025232. 4

Question Number : 8 Question Id : 6863406378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

My great uncle's gift of several lakh rupees was enough to AMELIORATE my financial condition. Which of
the following words 1s opposite in meaning to the word in capital letters

1. PRECIPITATE
2. SEGREGATE

3. AGGRAVATE

4. SURPASS

Options :

68634025229. 1
68634025230. 2
68634025231.3
68634025232. 4

Question Number : 9 Question Id : 6863406379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the grammatically correct sentence:

1. The reasons only people indulge in gossip or shun it is as individual as they are

| B

. The reason only people indulge in gossip or shun it are as individuals as they are
3. The reasons only people indulge in gossip or shun it are as individual as they are
4. The reasons only people indulged in gossip or shun it are as individual as they are

Options :

68634025233. 1

68634025234. 2

68634025235. 3
68634025236. 4

Question Number : 9 Question Id : 6863406379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the grammatically correct sentence:

1. The reasons only people indulge in gossip or shun it is as individual as they are

[

. The reason only people indulge in gossip or shun it are as individuals as they are
3. The reasons only people indulge in gossip or shun it are as individual as they are
4. The reasons only people indulged in gossip or shun it are as individual as they are

Options :

68634025233. 1

68634025234. 2

68634025235.3
68634025236. 4

Question Number : 10 Question Id : 6863406380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

choose the correctly spelt word from the given options

1. camouflage

[

. camoflage

L]

. camooflage
4. cameoflage
Options :

68634025237. 1
68634025238. 2



68634025239. 3
68634025240. 4

Question Number : 10 Question Id : 6863406380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

choose the correctly spelt word from the given options

1. camouflage

[

. camoflage
3. camooflage
4. cameoflage
Options :
68634025237. 1
68634025238. 2

68634025239. 3
68634025240. 4

Question Number : 11 Question Id : 6863406381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ifa:b=3:5, then (-az—sz:(azﬂa‘z] 1s:

1. 2:

]

2.1:4
3.8:17
4. 4:9

Options :

68634025241. 1
68634025242.2
68634025243. 3
68634025244. 4

Question Number : 11 Question Id : 6863406381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If azb = 3:5 | then (-az—sz:[aLrsz is:

1. 2:

L]

2.14
3.8:17
4. 4:9

Options :

68634025241. 1
68634025242. 2
68634025243.3
68634025244. 4

Question Number : 12 Question Id : 6863406382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; : ; : I : ;
The simple mterest on a certain sum of money for 2 — years at 12% per annum 1s RS.40 less than the simple

interest on the same sum for 3— years at 10% per annum. Find the sum
7
=

1. Rs 800
2. Rs 1,600
3.Rs 1.200
4. Rs 1,000
Options :
68634025245. 1
68634025246. 2

68634025247. 3
68634025248. 4

Question Number : 12 Question Id : 6863406382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



; : ; : 1 : :
The simple mterest on a certain sum of money for 2 — years at 12% per annum 1s RS.40 less than the simple

interest on the same sum for 3— years at 10% per annum. Find the sum
)

-

1. Rs 800

2. Rs 1,600
3.Rs 1,200
4. Rs 1,000

Options :

68634025245. 1
68634025246. 2
68634025247. 3
68634025248. 4

Question Number : 13 Question Id : 6863406383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Instead of walking along two adjacent sides of a rectangular field. a boy took a short-cut along the diagonal of
the field and saved a distance equal to half of the longer side. Find the ratio of the length of the shorter side to

that of the longer side of the field.

1. 4:13

b2
Lad

L¥ 5]
h

14
4. 4:5

Options :

68634025249. 1
68634025250. 2
68634025251. 3
68634025252. 4

Question Number : 13 Question Id : 6863406383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Instead of walking along two adjacent sides of a rectangular field. a boy took a short-cut along the diagonal of
the field and saved a distance equal to half of the longer side. Find the ratio of the length of the shorter side to
that of the longer side of the field.

1. 4:13

[
(%)
pe

4.4:5

Options :

68634025249. 1
68634025250. 2
68634025251. 3
68634025252. 4

Question Number : 14 Question Id : 6863406384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

By selling an electric iron for 2700, a shopkeeper incurred a loss of 30%. At what price should he have sold
the electric iron to gain 40%?

1.2 1280

2.2 1400

i

.2 1190

4. % 1080

Options :

68634025253. 1
68634025254. 2
68634025255. 3
68634025256. 4

Question Number : 14 Question Id : 6863406384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By selling an electric iron for 700, a shopkeeper incurred a loss of 30%. At what price should he have sold
the electric iron to gain 40%7?

1.2 1280

| B

.2 1400

L]

.2 1190

4. % 1080



Options :

68634025253. 1
68634025254. 2
68634025255. 3
68634025256. 4

Question Number : 15 Question Id : 6863406385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A water tank can be filled by two pipes P and Q in 60 minutes and 30 minutes respectively. How many
minutes will it take to fill the empty tank if pipes P and Q are opened for first half of the time. after which only
pipe Q is opened for next half of the time?

1. 14

[ )
o
N

4. 24

Options :

68634025257. 1
68634025258. 2
68634025259. 3
68634025260. 4

Question Number : 15 Question Id : 6863406385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A water tank can be filled by two pipes P and Q in 60 minutes and 30 minutes respectively. How many
minutes will it take to fill the empty tank if pipes P and Q are opened for first half of the time. after which only
pipe Q 1s opened for next half of the ime?

1. 14

[ ]
wd
N

4.24

Options :

68634025257. 1
68634025258. 2
68634025259. 3
68634025260. 4

Question Number : 16 Question Id : 6863406386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If AMAN equals 79. then HAPPY=?

1.49

| ]
Lh
S

4. 69

Options :

68634025261. 1
68634025262. 2
68634025263. 3
68634025264. 4

Question Number : 16 Question Id : 6863406386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If AMAN equals 79. then HAPPY=?

1.49

| ]
Lh
S

4. 69

Options :

68634025261. 1
68634025262. 2
68634025263. 3
68634025264. 4

Question Number : 17 Question Id : 6863406387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Answer the question by using the below mentioned statement and conclusions.
Statement:- All teachers are student
Some students are girls
Conclusions:- I. All teachers are girls.
I1. Some girls are teachers.
IOI. Some girls are student.

1. onlyI follows

[ ]

. only LIT and 11T follows
3. only III follows

4. only II and III follows

Options :

68634025265. 1
68634025266. 2
68634025267. 3
68634025268. 4

Question Number : 17 Question Id : 6863406387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Answer the question by using the below mentioned statement and conclusions.
Statement:- All teachers are student
Some students are girls
Conclusions:- I. All teachers are girls.

II. Some girls are teachers.

ITI. Some girls are student.

oy

. only I follows

[ ]

. only LIT and III follows

3. only III follows

s

. only IT and III follows

Options :

68634025265. 1
68634025266. 2
68634025267. 3



68634025268. 4

Question Number : 18 Question Id : 6863406388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will complete the pattern 0.1.1.2.3.5.8.13.2

1. 22

[
| B
e

4.19

Options :

68634025269. 1
68634025270. 2
68634025271. 3
68634025272. 4

Question Number : 18 Question Id : 6863406388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will complete the pattern 0.1.1,2.3.5.8.13.2

1. 22

[
| ]
[

4.19

Options :

68634025269. 1
68634025270. 2
68634025271. 3
68634025272. 4

Question Number : 19 Question Id : 6863406389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Manoj 1s taller than Sam but shorter than Rakesh. Rakesh is taller than Rohit but shorter than Govind. If Sam
is taller than Rohit, then who is the shortest among all?

1. Govind

2. Rohit

3. Sam

4, Rakesh
Options :
68634025273. 1
68634025274. 2

68634025275. 3
68634025276. 4

Question Number : 19 Question Id : 6863406389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Manoj 1s taller than Sam but shorter than Rakesh. Rakesh is taller than Rohit but shorter than Govind. If Sam
1s taller than Rohit. then who is the shortest among all?

1. Govind

2. Rohit

3. Sam

4. Rakesh
Options :
68634025273. 1
68634025274. 2

68634025275. 3
68634025276. 4

Question Number : 20 Question Id : 6863406390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Introducing a man to her husband, a woman said. "His sister’s father is the only son of my grandfather". How
is the woman related to this man?

1. Aunt

2. Mother

3. Grandmother
4. Sister

Options :



68634025277. 1
68634025278. 2
68634025279. 3
68634025280. 4

Question Number : 20 Question Id : 6863406390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Introducing a man to her husband, a woman said. "His sister's father is the only son of my grandfather". How
is the woman related to this man?

1. Aunt

[ ]

. Mother
3. Grandmother
4. Sister

Options :

68634025277. 1
68634025278. 2
68634025279. 3
68634025280. 4

Question Number : 21 Question Id : 6863406391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Chor Minar' in the Hauzkhas of Delhi was constructed by
1. Alauddin Khilj
2. Aurangzeb

3. Firoz shah Tughlaq
4. Akbar

Options :

68634025281. 1
68634025282. 2
68634025283. 3
68634025284. 4

Question Number : 21 Question Id : 6863406391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Chor Minar' in the Hauzkhas of Delhi was constructed by

1. Alauddin Khilj

| B

. Aurangzeb

3. Firoz shah Tughlaq
4. Akbar

Options :

68634025281. 1
68634025282. 2
68634025283. 3
68634025284. 4

Question Number : 22 Question Id : 6863406392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A [Hunter's Commission I 1948
B. [Wardha scheme IT. |1904
C. [University Act I0I. |1937
D. [Radhakrishna commission | IV, |1882

Choose the most appropriate answer from the options given below:

1. A-III, B-II. C-IV. D-1

| ]

CA-TIV. B-11. C-II1, D-I
3. A-IIL B-IV. C-1. D-II
4. A-IV, B-1II. C-II, D-I

Options :

68634025285. 1
68634025286. 2
68634025287. 3
68634025288. 4

Question Number : 22 Question Id : 6863406392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A [Hunter's Commission I 1948
B. [Wardha scheme IT. |1904
C. [University Act III. |1937
D. |[Radhakrishna commission | IV, 1882

Choose the most appropriate answer from the options given below:

1. A-IIL, B-II, C-IV, D-I

[ )

CA-TV. B-11L C-II1, D-I
3. A-III, B-IV. C-I, D-II
4. A-IV. B-III. C-II. D-I

Options :

68634025285. 1
68634025286. 2
68634025287. 3
68634025288. 4

Question Number : 23 Question Id : 6863406393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Thuming' is a type of
1. Plantation agriculture
2. Extensive farming
3. Mixed farming
4. Shifting agriculture
Options :
68634025289. 1
68634025290. 2

68634025291. 3
68634025292. 4

Question Number : 23 Question Id : 6863406393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Thuming' is a type of

1. Plantation agriculture

| B

. Extensive farming

LF¥]

. Mixed farming
4. Shifting agriculture
Options :
68634025289. 1
68634025290. 2

68634025291. 3
68634025292. 4

Question Number : 24 Question Id : 6863406394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A. The speed of sound 1s maximum in gases and minimum in solids.

B. The speed of sound remains unchanged by increase or decrease of pressure.

C. The speed of sound increases with increase of temperature of the medium.

D. The speed of sound is less in humid air than in dry ar.

Choose the correct answer from the options given below:
1. Aand B only
2. B and C only
3. AB and C only

4. A and D only

Options :

68634025293. 1
68634025294, 2
68634025295. 3
68634025296. 4

Question Number : 24 Question Id : 6863406394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The speed of sound 1s maximum in gases and minimum in solids.
B. The speed of sound remains unchanged by increase or decrease of pressure.
C. The speed of sound increases with inerease of temperature of the medium.
D. The speed of sound is less in humid air than in dry ar.
Choose the correct answer from the options given below:

1. Aand B only

2. B and C only

3. AB and C only

4. A and D only

Options :

68634025293. 1
68634025294. 2
68634025295. 3
68634025296. 4

Question Number : 25 Question Id : 6863406395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which music composer of India has won the prestigious Grammy Awards 2023?

1. Ricky Kej
2. M.M. Keeravan
3. Pritam chakraborty
4. AR Rahman

Options :

68634025297. 1

68634025298. 2

68634025299. 3
68634025300. 4

Question Number : 25 Question Id : 6863406395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which music composer of India has won the prestigious Grammy Awards 20237

—

. Ricky Kej

| )

. M.M. Keeravani
3. Pritam chakraborty

4. AR Rahman

Options :

68634025297. 1
68634025298. 2
68634025299. 3
68634025300. 4

Part B: Zoology

Section Id : 686340128
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340198
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863406396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following enzymes introduce negative supercoiling in prokaryotic DNA?

1. Topoisomerase I

| B

. Topoisomerase II

Lad

. Topoisomerase 11
4. Topoisomerase IV

Options :

68634025301. 1
68634025302. 2
68634025303. 3
68634025304. 4



Question Number : 26 Question Id : 6863406396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafeiaa @ O o w1 teed WieRaifes S uA U E Hunde sfagscdl o IH1fay &l 8?2
1. CIOIEHHE I
SIS 11
 CITISIEgERy I
ISR IV

Options :

68634025301. 1
68634025302. 2
68634025303. 3
68634025304. 4

[

L]
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Question Number : 27 Question Id : 6863406397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

To detect infection of SARS-CoV2 in humans. RT-PCR technique 1s used to quantify:

1. Surface protemns of SARS-CoV2

[

. RNA of SARS-CoV2
3. Non-structural proteins of SARS-CoV2
4. Host DNA

Options :

68634025305. 1
68634025306. 2
68634025307. 3
68634025308. 4

Question Number : 27 Question Id : 6863406397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OFE T SARS-CoV2 & HHHU &l UgdH & [0 RT-PCR dd-id &1 Iugil Hgfaiad § 9 feasd
TSR & g S S 82

1. SARS-CoV2 T Hde W IURId HicH & [l

SARS-CoV2 & RNA & folu

[ ]

3. SARS-CoV2 Bl TP HIcH & [
4. UG- DNA & foiU

Options :

68634025305. 1
68634025306. 2
68634025307. 3
68634025308. 4

Question Number : 28 Question Id : 6863406398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which cell organelle is involved in the synthesis of glycosphingolipids and glycoproteins inside the cell?

1. Peroxisomes

[

. Glyoxysomes
3. Inner mitochondrial membrane
4. Golgi complex

Options :

68634025309. 1

68634025310. 2

68634025311. 3
68634025312. 4

Question Number : 28 Question Id : 6863406398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025309. 1
68634025310. 2
68634025311. 3
68634025312. 4

Question Number : 29 Question Id : 6863406399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Actinomycin D inhibits:

1. Transeriptional elongation in Eukaryotes

2

. Translational elongation in prokaryotes
3. Transcriptional mitiation in prokaryotes
4, Translational initiation in eukaryotes

Options :

68634025313. 1
68634025314. 2
68634025315. 3
68634025316. 4

Question Number : 29 Question Id : 6863406399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfgemEfE p Fgfeted § 9 foge ARy Seare:
IR Sl § SfeRa grdi@eu
3 Hfegl O MR Sibieeo
. 3H H=fBal | Sea &1 §ARY
4, GO F<5gl H§ RIMTORU &1 GARY
Options :
68634025313. 1
68634025314. 2

68634025315. 3
68634025316. 4

fa—y
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Question Number : 30 Question Id : 6863406400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following event occurs during the Diplonema/Diplotene stage of meiosis?
1. Reduction in the number of chiasmata

. Separation of the paired chromosomes except at the chiasmata

| B

3. Crossing-over and recombination between homologous chromatids

4. Pairing of homologous chromosomes and synaptonemal complex formation
Options :
68634025317. 1
68634025318. 2

68634025319. 3
68634025320. 4

Question Number : 30 Question Id : 6863406400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025317. 1
68634025318.2
68634025319. 3
68634025320. 4

Question Number : 31 Question Id : 6863406401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The anti-parallel nature of double standard DNA is due to:

1. Phosphodiester bonds

[ )

. Hydrogen bonds

L]

. Disulphide bonds
4. Glycosidic bond

Options :
68634025321. 1



68634025322. 2
68634025323. 3
68634025324. 4

Question Number : 31 Question Id : 6863406401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i~ - oy
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ESIEEEL
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4. TAEHIRITSD ¢
Options :
68634025321. 1
68634025322.2

68634025323.3
68634025324. 4

[
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Question Number : 32 Question Id : 6863406402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
All human antibody types possess a proline-rich flexible 'hinge region' except:

1. IgA
2. 1gG
3.1gE
4. 1gD

Options :

68634025325. 1

68634025326. 2

68634025327. 3
68634025328. 4

Question Number : 32 Question Id : 6863406402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025325. 1
68634025326. 2
68634025327. 3
68634025328. 4

Question Number : 33 Question Id : 6863406403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The drug Aspirin inhibits the synthesis of:
1. Leukotrienes
2. Prostaglandins
3. Arachidonic acid
4. 17-eicosapentanoic Acid (EPA)
Options :
68634025329. 1
68634025330. 2

68634025331.3
68634025332. 4

Question Number : 33 Question Id : 6863406403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TwdE g1 FufafEa O @ fags dwewn o1 FR1d Sl g2
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T
QUG ECAURK]
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Options :
68634025329. 1



68634025330. 2
68634025331. 3
68634025332. 4

Question Number : 34 Question Id : 6863406404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Neuroglia found in peripheral nervous system (PNS) contains the following cells:

1. Astrocytes

(B

. Schwann cells
3. Oligodendrocytes
4. Ependymal cells

Options :

68634025333. 1
68634025334. 2
68634025335. 3
68634025336. 4

Question Number : 34 Question Id : 6863406404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025333. 1
68634025334. 2
68634025335.3
68634025336. 4
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Question Number : 35 Question Id : 6863406405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hyaluronic acid 1s composed of:

1. D-Galactose and N-acetyl D-glucosamine

2

. L-Iduronic acid and N-acetyl-D-galactosamine
3. D-Glucuronic acid and N-acetyl-D-galactosamine
4, D-Glucuronic acid and N-acetyl-D-glucosamine

Options :

68634025337. 1
68634025338. 2
68634025339. 3
68634025340. 4

Question Number : 35 Question Id : 6863406405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025337. 1
68634025338.2
68634025339. 3
68634025340. 4

| ]
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Question Number : 36 Question Id : 6863406406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Separation of two different alleles from each other during gamete formation in a heterozygote follows:

1. Law of unit factors

| )

. Law of segregation
3. Law of dominance
4. Law of independent assortment

Options :
68634025341. 1



68634025342. 2
68634025343. 3
68634025344. 4

Question Number : 36 Question Id : 6863406406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025341. 1
68634025342. 2
68634025343. 3
68634025344. 4

Question Number : 37 Question Id : 6863406407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A lizard like reptile which is considered as a "Living fossil" is:
1. Komado dragon
2. Varonus
3. Sphenodon
4. Gekko

Options :

68634025345. 1
68634025346. 2
68634025347. 3
68634025348. 4

Question Number : 37 Question Id : 6863406407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634025345. 1
68634025346. 2

68634025347. 3
68634025348. 4
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Question Number : 38 Question Id : 6863406408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The world's only floating national park 1s situated in:

1. Mizoram

| )

. Aminachal Pradesh

Lad

. Manipur
4. Meghalaya

Options :

68634025349. 1
68634025350. 2
68634025351. 3
68634025352. 4

Question Number : 38 Question Id : 6863406408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634025349. 1
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68634025350. 2
68634025351. 3
68634025352. 4

Question Number : 39 Question Id : 6863406409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Calculate the value of median from the given data:

2.90,3.57,3.73,2.98.3.64, 3.75

3.30, 3.62, 3.76, 3.38, 3.606, 3.76

1. 3.505

| )

.3.62
3.3.63
4.3.65

Options :

68634025353. 1

68634025354.2

68634025355.3
68634025356. 4

Question Number : 39 Question Id : 6863406409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fau My Simst & Ml &1 7 F1d B
2.90, 3.57.3.73, 2.98, 3.64, 3.75
3.30, 3.62, 3.76, 3.38. 3.66, 3.76

1. 3.505

| B

362
3. 3.63

4. 3.65

Options :

68634025353. 1
68634025354. 2
68634025355. 3
68634025356. 4

Question Number : 40 Question Id : 6863406410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
In the course of evolution. first horses appeared in which period?

1. Eocene

[

. Oligocene

L]

. Miocene

4. Pliocene

Options :

68634025357. 1
68634025358. 2
68634025359. 3
68634025360. 4

Question Number : 40 Question Id : 6863406410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
33-foera & o1 1 Ugd sy Fafeiad & 3 fow &ra g8 3 uee g0
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2. ST
3. FE
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Options :

68634025357. 1
68634025358. 2
68634025359. 3
68634025360. 4

Question Number : 41 Question Id : 6863406411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Teak is a dominant tree species of which of the following types of forests in India?

1. Tropical moist deciduous forest

| )

. Tropical thorn deciduous forest

LF¥]

. Tropical Rain Forest

e

. Temperate forest with grass lands

Options :



68634025361. 1
68634025362. 2
68634025363. 3
68634025364. 4

Question Number : 41 Question Id : 6863406411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025361. 1
68634025362. 2
68634025363. 3
68634025364. 4

Question Number : 42 Question Id : 6863406412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Food chains are short.
Reason R: There 15 a loss of 10% of energy at each trophic level

In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R is NOT the correct explanation of A
3. Ajis correct but R is not correct

4. A is not correct but R is correct

Options :

68634025365. 1
68634025366. 2
68634025367. 3
68634025368. 4

Question Number : 42 Question Id : 6863406412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :
68634025365. 1
68634025366. 2

68634025367. 3
68634025368. 4

Question Number : 43 Question Id : 6863406413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s the correct sequence of events in urine formation?

1. Filteration. secretion and reabsortpion

[ )

. Secretion, reabsorption and filteration
3. Filteration. reabsorption and secretion
4. Reabsorption, filteration and secretion

Options :

68634025369. 1
68634025370. 2
68634025371. 3
68634025372. 4

Question Number : 43 Question Id : 6863406413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T3 S 1 g3l 1 98t 3 H Ugn-y

1. fhee 3=, JquT, YAd=Iyoy
2. AT, AR {thee =

3. T ee Y=, JAd XY Hau]

4. TAGRIYUL {hee e, 9au

Options :

68634025369. 1
68634025370. 2
68634025371. 3
68634025372. 4

Question Number : 44 Question Id : 6863406414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All of the following are amniotes except:

1. Burds

2

. Mammals

LFS]

. Reptiles
4, Fish
Options :
68634025373. 1
68634025374. 2

68634025375. 3
68634025376. 4

Question Number : 44 Question Id : 6863406414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafarad o 9 o w1 Sl (Tisie) T8 82
1. gt
ESEEIR]
Yy

4. H

| )

[#5]

Options :
68634025373. 1



68634025374. 2
68634025375. 3
68634025376. 4

Question Number : 45 Question Id : 6863406415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The first definitive evidence for the chromosomal theory of inheritance was provided by:
1. Gregor John Mendel
2. Sutton and Bover1
3. Thomas Hunt Morgan
4. Hugo De vries
Options :
68634025377. 1
68634025378. 2

68634025379. 3
68634025380. 4

Question Number : 45 Question Id : 6863406415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTARIe] & T[0T T s 1 ugan Hidd gieg Fafkitea O 9 e faam
1. IR &1 Hed
2. gaF AR Fesd
3. YTAY g ARTH
4. 871 St §I5H

Options :

68634025377. 1
68634025378. 2
68634025379. 3
68634025380. 4

Question Number : 46 Question Id : 6863406416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Carina is:

1. A free-swimming, ciliated larva

| B

. A shield-like plate over dorsal part of body
3. A keeled sternum for msertion of flight muscles
4. A glue-secreting cell

Options :

68634025381. 1

68634025382. 2

68634025383. 3
68634025384. 4

Question Number : 46 Question Id : 6863406416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT (Carina) é
TS o axdl gl geaHl arar

a—y

| ]

. TRR & g¥ Y R U Hdd & ale T
3. TS B URMEI & 4% & fou e Arafird gy

4, 3G Hqu] HIEEH]

Options :

68634025381. 1
68634025382. 2
68634025383. 3
68634025384. 4

Question Number : 47 Question Id : 6863406417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The egg of birds and fishes have only one small area which is free of yolk and where division takes place.
Such an egg is known as:

1. Telolecithal

| )

. Centrolecithal
3. Isolecithal

4, Mesolecithal

Options :



68634025385. 1
68634025386. 2
68634025387. 3
68634025388. 4

Question Number : 47 Question Id : 6863406417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UiEat IR el & 31§ U Biel 91 &7 gl & forad dide el giaT 3R asl [ayeH gl 8. U9 38
PeEdd &
1. Tenefdiaet
2. Heuramt
3, qHEUGD!
4, YS!
Options :
68634025385. 1
68634025386. 2

68634025387. 3
68634025388. 4

Question Number : 48 Question Id : 6863406418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the hominins first migrated out of Africa?

1. Homo ergaster
2. Homo habilis
3. Homo erectus
4. Ardipithecus ramidus

Options :

68634025389. 1

68634025390. 2

68634025391. 3
68634025392. 4

Question Number : 48 Question Id : 6863406418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad o 9 ®H 9 Iy o1 9ad Ugd HbieT ¥ - gam
1. §TH §YRER

. 1T elafery

BRI ¥

4. HISTTeli sy

Options :

68634025389. 1
68634025390. 2
68634025391. 3
68634025392. 4

| )

L

Question Number : 49 Question Id : 6863406419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ribozyme that catalyses peptide bond formation during prokaryotic protein synthesis 1s:

1. 285 rRNA

| )

. 235 IRNA
3. 168 rRNA
4. 5.85 rENA

Options :

68634025393. 1
68634025394. 2
68634025395. 3
68634025396. 4

Question Number : 49 Question Id : 6863406419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafiad 8 9 &F 9 UsaaEd offiH S<fedl § UicH IR0y &1 3ok &dl 67

1. 285 rRINA

|

. 235 rRINA
3. 165 rRNA
4. 5. 88 RNA

Options :
68634025393. 1



68634025394. 2
68634025395. 3
68634025396. 4

Question Number : 50 Question Id : 6863406420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Cosmid vector 18 made up of:
1. Bacterial plasmid and lambda phage DNA

2. Lambda phage DNA and Bacterial Fertility factor

3. Bacterial fertility factor and bacterial plasmid
4. Yeast telomeres and Yeast ARS. DNA

Options :

68634025397. 1
68634025398. 2
68634025399. 3
68634025400. 4

Question Number : 50 Question Id : 6863406420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=

BT daey 394 §dT &

1. SiigTiae @IeTs R ars] faqTol 31T ¥ |
. irsT el DNA 3R Siiaiigd Uei=4 SR J |
 SHATUas Yol HRE R Siarigs @IS 9 |

[

L

4, O AR SR e TRy, STt e d |

Options :

68634025397. 1
68634025398. 2
68634025399. 3
68634025400. 4

Question Number : 51 Question Id : 6863406421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A population has 600 individuals, 150 of genotype AA. 300 of genotype Aa and 150 of genotype aa. What 1s
the frequency of allele A?

1. 0.5

| )

.04
3.0.35
4, 0.6
Options :
68634025401. 1
68634025402. 2

68634025403. 3
68634025404. 4

Question Number : 51 Question Id : 6863406421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gwmfr 600 S8 B, 150 BT ST TS AA B, 300 BT Aa AR 150 FT aa & | Taild AP SMGRT AN

;B

|

.04
% 35

4.0.6

Options :

68634025401. 1
68634025402. 2
68634025403. 3
68634025404. 4

Question Number : 52 Question Id : 6863406422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Pathogen/Infective stage Mode of transmission
i o Aerial
A | Trichomonas vaginalis I =
transmission
Metacestodes of Echinococcus 1 Sexual
multilocilaris " | transmission
Myvcobacterium tubeveulosis ITI. | Direct contact
. ; . | Tropic
D. |Lice and mites V. B
transmission

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

[ ]

CA-ITL B-IV. C-1, D-IIT
3. A-IIL B-1, C-IV. D-II
4. A-IV, B-11. C-I1I, D-I

Options :

68634025405. 1
68634025406. 2
68634025407. 3
68634025408. 4

Question Number : 52 Question Id : 6863406422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor

Tl 1 T 1L
TRTO) ehTHS =R0T HeRUT &1 TT
A | CIEHITE dforHIcg I |ara TR
N ke e ol I IS
C. [aEenEiERaE cqavagaied nL [di gud
D [{ IR Ged! (A5 TV [qI901 Gaor
fafead faeedi o I 98l GOk &1 99 St :

1. A-I, B-III, C-II. D-IV

2

A-IL B-IV, C-1, D-III
3. A-IIT. B-1, C-IV. D-II
4, A-IV, B-I1I, C-II1. D-I

Options :
68634025405. 1



68634025406. 2
68634025407. 3
68634025408. 4

Question Number : 53 Question Id : 6863406423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Scurvy is a disease due to deficiency of Vitamin C.

Reason R: Scurvy is characterised by long digits and extensibility of joints.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634025409. 1
68634025410. 2
68634025411. 3
68634025412. 4

Question Number : 53 Question Id : 6863406423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁaﬁﬁmﬁqwg.waf\WWA(AsseﬁinuA]%Wﬁ%@ﬁ%fﬁwmmR(Reasun
R)D ¥UH

Assertion A: T U [deTia I @I HHI I §H are I gl

Reason R: THA & T&UT & @il STIferdr $iR Siig! 1 fawaRyd g1

SR HUF & 3T 4, 1< 41 T faeedl & 3 §a9 3Ugad SR &1 99 & [1ulL;
1. A SRR G H8l § SRR A P! J5! ARAT &

A SRR IF TS § SR R AP TEl AN T §

3. ATEI S OfPT R WET T ®

4 AT TSI S APTIRTEI §

Options :
68634025409. 1

2



68634025410. 2
68634025411. 3
68634025412. 4

Question Number : 54 Question Id : 6863406424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The wing of a bird. forelimb of human and forelimb of lizard are homologous.
Reason R: Organ's underlying similarity arises due to their derivation from common ancestors.

In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4, A is not correct but R is correct

Options :

68634025413. 1
68634025414. 2
68634025415. 3
68634025416. 4

Question Number : 54 Question Id : 6863406424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁ’iﬂﬁ[{ﬁt{gﬁGiﬁ-!ﬁTWA(AsserﬁnuA)%Wﬁ%@ﬁ%?ﬁmmmR(Reason
R/&ITH

i@ A: 7all & URg, HITd & SUUTE SR [SUdd! & SEIuTE FHERY &

BRUIR: 3T (59! WA TS THH gl ¢. 98 9919 gdell 9§ 39 6id ¢ |
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3 AT R ABIR TE S R
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Options :
68634025413. 1

b2



68634025414. 2
68634025415. 3
68634025416. 4

Question Number : 55 Question Id : 6863406425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Scatfolding proteins are non-histone chromosomal proteins.
Reason R: Scaffolding proteins are abundant in lysine and Arginine.

In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4, A is not correct but R is correct

Options :

68634025417. 1
68634025418. 2
68634025419. 3
68634025420. 4

Question Number : 55 Question Id : 6863406425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁ’iﬂﬁ[{ﬁt{gﬁGiﬁ-!ﬁTWA(AsserﬁnuA)%Wﬁ%@ﬁ%?ﬁmmmR(Reason
R/&ITH
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SWRIe HUF & 3dlie 4, A< U T fdeedl & I wad 3ugad Sar &l 94 & 1ulu
1. A SRR HEI € SRR AP HE AR &

A SIRREHI T8l § SIRR. A®| Ug! ARA 51 ¢

3. ATRTAFAIR T TSR

4. A TR ST g APTR WS ©

Options :
68634025417. 1

b2



68634025418. 2
68634025419. 3
68634025420. 4

Question Number : 56 Question Id : 6863406426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Treatment of immunoglobulin IgG with B-mercaptoethanol gives rise to two heavy chains and
two light chains peptides on SDS-PAGE.

Reason R: f-mercaptoethanol breaks peptide bond at the site of disulphide linkage.
In the light of the above statements. choose the mosr appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
Options :
68634025421. 1
68634025422. 2

68634025423. 3
68634025424. 4

Question Number : 56 Question Id : 6863406426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁiﬂﬁqwg.waﬁ-ﬁﬂﬁA(AsserﬁnuA)%Wﬁ%@ﬁ%fﬁmmmR(Reason
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Options :

68634025421. 1
68634025422 2
68634025423. 3
68634025424. 4

Question Number : 57 Question Id : 6863406427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Monkeys and chimpanzees cannot mate in present day conditions.
Reason R: Reproductive 1solation is reversible.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R 13 NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

68634025425. 1
68634025426. 2
68634025427. 3
68634025428. 4

Question Number : 57 Question Id : 6863406427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 g1 U [T U §. Ud SITUSBYT A (Assertion A) P U T [AIRGd § dl GIRT 3HD BRI R (Reason
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Options :

68634025425. 1
68634025426. 2
68634025427. 3
68634025428. 4

Question Number : 58 Question Id : 6863406428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Glucose-6-phosphate dehvdrogenase deficiency is associated with antibiotic resistance.

Reason R: Plasmodium 1s dependent on Hexose monophosphate shunt and reduced glutathione for their
optinum growth in RBCs.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R 13 NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634025429. 1
68634025430. 2
68634025431. 3
68634025432. 4

Question Number : 58 Question Id : 6863406428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 & U AU T §, Ud U YT A (Assertion A) & T9 1 [WRGd § T THRI 3D BT R(Reason
R/&¥4H
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BRI R: WISHSTH, TTd a0 P01 B U SPadd dia & 100 saaid JiH] BIhe I 3R
i e R R a8

SWRIe HUF & 3Helie 4, 1< [ MU fdehedl & I wad 3ugad Sax &l 94 & 1lu
1. A R REA 961 € AR R, AT TEI RS ©

A SIRREHI T8l § SIRR. A DI g ARA 51 ¢

5. AT AFAIR T TSR

4. A TRl gl APTRUET ©

Options :

68634025429. 1
68634025430. 2
68634025431. 3
68634025432. 4

b2

Question Number : 59 Question Id : 6863406429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Salamanders belong to order Apoda of class Amphibia.
Reason R:The order Apoda of class Amphibia includes elongated. limbless and burrowing creatures.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

68634025433. 1
68634025434. 2
68634025435.3
68634025436. 4

Question Number : 59 Question Id : 6863406429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i1 g1 U [T T §, Ud SITUSBYT A (Assertion A) & 30 I [6REd § Al GERT 3UD BRI R(Reason
R)BITH

HUBYT A: JATT T S(91E, T TR 4§ Halod 5
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Options :

68634025433. 1
68634025434. 2
68634025435. 3
68634025436. 4

b2

Question Number : 60 Question Id : 6863406430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sponges are the only major phylum that lack nerves.

Statement II: The simplest nervous system occurs in platyhelminthes.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

68634025437. 1
68634025438.2
68634025439. 3
68634025440. 4

Question Number : 60 Question Id : 6863406430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634025437. 1
68634025438.2
68634025439. 3
68634025440. 4

Question Number : 61 Question Id : 6863406431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Messenger RNA capping. polyadenylation and splicing are coupled to transeription in
eukaryotes.

Statement IT: Transcription and translation are compartmentalized in prokaryotes.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement [ is incorrect but Statement II is correct

Options :

68634025441. 1
68634025442. 2
68634025443. 3
68634025444. 4

Question Number : 61 Question Id : 6863406431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

3 gl By Gy MU &
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HY I1: S RAT H Serg R RIHR0 SN sial g |
SR HUF & 3Tdie 4, A< G0 T fadedl & 3 a9 3Ugad SR & 98- & 190
1. Y1 IR HYA 11 aF1 TE §
BYA 1 SR PYT I GHI T §
DY e &. i HYF I17Ted &
 BYA 1T ©. Wi HYF 11 TE! &
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Options :

68634025441. 1
68634025442.2
68634025443. 3
68634025444. 4

Question Number : 62 Question Id : 6863406432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Transduction is virus-mediated bacterial DN A-recombination.

Statement IT: Transduction is also used for bacterial gene linkage and gene mapping studies.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 1s true

Options :

68634025445. 1
68634025446. 2
68634025447. 3
68634025448. 4

Question Number : 62 Question Id : 6863406432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIEEAE AT RIS
®YA I URFHHY H GG ] ALRYTT ¥ Sila19] & 1 U9 U &1 §7a1o gl o
HY I1: IRHHUI DT SUART SaT0] H S Feaddl SR i U= SerH & A a1 ord g |
SR B & 3faie 4, A< G0 T fdeedl & 3 999 3Ugad SR &1 98- S I1910;
1. BT AR YT 11 1 i &
2. YT 3R YA 11 &1 7Ted &
3. DY e 6. Al HYF 11 7Tad &
4, DY 1T B, AAleb HYT 11 981 &

Options :

68634025445. 1
68634025446. 2
68634025447. 3
68634025448. 4

Question Number : 63 Question Id : 6863406433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Fatty acids undergo beta-oxidation and the products enter the citric acid cycle or combine with
each other to form ketone bodies.

Statement II: Fatty acids undergo beta-oxidation and the products enter glycolysis or combine to form
clucose.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false
4. Statement [ is false but Statement II is true

Options :

68634025449. 1

68634025450. 2

68634025451. 3
68634025452. 4

Question Number : 63 Question Id : 6863406433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025449. 1
68634025450. 2
68634025451. 3
68634025452 4

Question Number : 64 Question Id : 6863406434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Steroid Hormone Site of synthesis
. |Cortisol I. |[Kidney
A ldosterone II. |Adrenal-zona fasciculata

Progesterone | I11. |Adrenal-zona glomerulosa

1, 25-(OH);D1 | IV. [Corpus luteum

o|ofw]s

Choose the correct answer from the options given below:

1. A-I. B-IIL C-IIL. D-IV
2. A-IL B-I. C-IIIL. D-IV
3. A-IL B-III. C-IV, D-I
4. A-ITT, B-IV. C-1. D-II

Options :

68634025453. 1

68634025454. 2

68634025455. 3
68634025456. 4



Question Number : 64 Question Id : 6863406434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore

I
g i T
@Icad 1 [g5®
TR | 1 [sritges o haige
Oioiexia | 11 [sifeaes o arear
1. 25-(OH),D; | IV. [did T

fFafaiad fdeedl § O 9el 3R &1 99+ Sifo

1. A-I. B-II, C-III. D-IV

ofc[=]>

2. A-IL B-I. C-III. D-IV
3. AL B-III. C-IV. D-1
4, A-III B-IV. C-1. D-II

Options :

68634025453. 1

68634025454. 2

68634025455. 3
68634025456. 4

Question Number : 65 Question Id : 6863406435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Spleen participates in the immune response against blood-borne pathogens.

Statement IT: The lymph node is a highly specialized primary lymphoid organ.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement II are false

. Statement I is true but Statement II is false

L¥¥]

4, Statement I is false but Statement IT 1s true

Options :

68634025457. 1
68634025458. 2
68634025459. 3



68634025460. 4

Question Number : 65 Question Id : 6863406435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEAE AT RIS
FY I foreell o ¥ I IS & (Gvg wioRel sEfar o yrT Sl T
HYT I1: THID] Ud U 3if faflry vnufies ity sim g1
SWRIad HUF & el 4, i 3T 71U [dhedl & ¥ ¥9d 3Ugad Sk &I 904 BIT:
1. BT AR YT 11 1 G &
2. YA SR B 11 1 Tl 781 &
3. DY e 6. Al HYF 11 7Tad &
4. BYF 18I 81 6. Al HUT 11 el §

Options :

68634025457. 1
68634025458. 2
68634025459. 3
68634025460. 4

Question Number : 66 Question Id : 6863406436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Parthenogenesis plays an important role in social organization in colonies of certain bees, wasps,
and ants.

Statement II: In bees, large number of males (drones) are produced parthenogenetically. whereas sterile
temale workers and reproductive females (queens) are produced sexually.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement I are true

[ )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement IT is false

4. Statement [ is false but Statement II is true

Options :

68634025461. 1
68634025462. 2
68634025463. 3



68634025464. 4

Question Number : 66 Question Id : 6863406436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY I $o Tydfaayl. X iR Aifedl @1 sidifagl &1 aHie W1 5 sAvee--, th Gg@yul
YiHeT U g

®YA I1: eHiaEdl T 9gd go! S0 8 == (YHYY) NS eH9 gRI 3dd id 5. Sidid (ol HIar a1
B! HIEPT SR Wore A1el (! Al e o1 ¥ SEa el ol

SR HUF & 3fTdie 4, A< 51 T fdeed! & 3 999 SUgad SR 1 997 BIIT;
1. FYT I IR PY I EH Tal §
2. HYA 1 IR BT 1 T Fel T ©
3. YT e §. b Y 11 7T8d &

4 FYT 16l Tol 6. AfPT HYT I Tel

Options :

68634025461. 1
68634025462. 2
68634025463. 3
68634025464. 4

Question Number : 67 Question Id : 6863406437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: A circadian rhythm cannot be entrained.
Statement IT: Hormone melatonin regulates circadian rhythms.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1s false
4. Statement I is false but Statement IT is true
Options :

68634025465. 1
68634025466. 2



68634025467. 3
68634025468. 4

Question Number : 67 Question Id : 6863406437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 gl Py fGU MU -
SYA 1. RRPITST 7 &1 giiférd e fovar s gean|
HYF II: T Aelei- RResa o &1 b sxar gl
SR B & 3faie 4, A< G0 T fdeedl & 3 999 3Ugad SR &1 98- S I1910;
1. Y1 IR HYA 11 aF1 TE §
2. YT 3R HYF 11 G11 7TeAd &
3. BYA 1 el 6. i U I17Ted &
4. T 17T &, AP BUT 11 LT &

Options :

68634025465. 1
68634025466. 2
68634025467. 3
68634025468. 4

Question Number : 68 Question Id : 6863406438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
CD Antigen Expression on cells
A |cpa I IMHC class I-restricted
T-cells
’ IVMHC class IT-restricted)
Chs i T-Cells
C. |CD19 II1. |All leukocytes
D. |CD18 IV, |B-cells

Choose the correct answer from the options given below:
1. A-I. B-III. C-IV. D-I1
2. A-IL B-1. C-IV, D-III
3. A-IL. B-IV. C-II1. D-I

4. A-IV. B-III. C-1. D-II



Options :

68634025469. 1
68634025470. 2
68634025471. 3
68634025472. 4

Question Number : 68 Question Id : 6863406438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 1 D1 Y 11 9 FHar Pl
LIST I LISTII
CD Antigen Expression on cells
A |cps 1. MHC ¥ 1-uiddled T- oI
B. [cDs . pMEC T -9 8d T-@imy
C. [cD19 II1. [T 4Ty
D. [cDi1g IV. [B-BIHY
afead fdeedl O ° 9g! 9Tk &1 999 Sifoy ;

1. A-I. B-III. C-IV. D-I1

| )

CA-IL B-LL C-IV, D-II
3. A-IL. B-IV. C-1I1. D-I
4. A-IV, B-III. C-1. D-II

Options :

68634025469. 1
68634025470. 2
68634025471. 3
68634025472. 4

Question Number : 69 Question Id : 6863406439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Virus Disease
A |HINI Virus I | Guillian Barre Syndrome
B |[Bangie (@ |PTrEt Ao
Respiratory Syndrome
C. | Corona Virus | III. | Yellow Fever
D. | Zika Virus IV | Swine Flu

Choose the correct answer from the options given below:
1. A-IL. B-1. C-III. D-IV
2. A-IL B-L C-IV. D-III
3. A-IV, B-III. C-II, D-I
4. A-TIL B-IV. C-II. D-I

Options :

68634025473. 1
68634025474. 2
68634025475. 3
68634025476. 4

Question Number : 69 Question Id : 6863406439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 [ Sifor

T 1 T I
EN IRy | 1L [fteaer el
FidaRy | 1 [gds, e 4 s
SR I | 1L [did w93
Siearg [ 1v [ERa w

g [deedl § 4 9t 3l &1 94 Sl ;

1. A-II. B-I. C-III. D-IV

glo|w|=

| S

. A-IL B-1. C-IV, D-III
3. A-IV. B-IIL. C-II. D-I
4. A-IIT, B-IV. C-I1, D-I

Options :

68634025473. 1
68634025474. 2
68634025475. 3
68634025476. 4



Question Number : 70 Question Id : 6863406440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Enzymes Functions
DNA polymerase - o :
A (alibe) 1. | Base-excision DNA repair

B. | DNA polymerase p beta) | 1L RNA/DH A prinsry nthation oF

DNA synthesis
DNA Mitochondrial DINA replication
C. : : 1. e
polymerase v (gamma) and repair
D. o . IV, | Translation DNA synthesis

(Kappa)

Choose the correct answer from the options given below:

1. A-I. B-1I, C-IV, D-ITI

| ]

A-ILL B-1, C-III. D-IV
3. A-IL B-III. C-IV. D-I
4, A-IV, B-I1, C-III. D-I

Options :

68634025477. 1
68634025478. 2
68634025479. 3
68634025480. 4

Question Number : 70 Question Id : 6863406440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 A1
[ T U OIeHH o (3B 1 [Seiel &R Swad of T4 U 4R
S1 U9 USRS B @len | 11 [81 U4 U/ 3R U § Wi URYA S U4 U 83090 & Ay
[S1 TH U OISl ¢ (D) | 11 [0 & 31 U4 U &l Uidsidad 3R gur
. [3 T T uicliie = @ | 1V [euiaeur 2t U U URaun

fafarad fawent § T 96l SR &1 997 SO -

1. A-I. B-II. C-IV. D-III

ol Fod sl Jre

| o

A-ILL B-1, C-III. D-IV
3. A-IIL B-III. C-IV. D-I
4. A-IV, B-I1, C-III, D-I

Options :

68634025477. 1
68634025478. 2
68634025479. 3
68634025480. 4

Question Number : 71 Question Id : 6863406441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Type of Epithelium Location
Simple squamous Lining of kidney ducts and
0 e I
epithelium tubules
Simple cuboidal orr - e
B. P II. | Lining of blood capillaries
epithelium
= SmlpleI ek o ITT. | Lining of oral cavity
epithelium
D. St_ratit;e.:l squamons IV. | Lining of intestinal tract
epithelium

Choose the correct answer from the options given below:

1. A-II. B-I, C-IV, D-ITI

| ]

A-ILL B-1, C-III. D-IV
3. A-L. B-II. C-IV, D-III
4. A-L. B-II. C-IIIL. D-IV
Options :

68634025481. 1
68634025482. 2



68634025483. 3
68634025484. 4

Question Number : 71 Question Id : 6863406441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

m%;m T
T8R0T Rehi 3Uebal | L [dd® o dligl 3R Iicia] dl 3%
IR 9B R Judhdl| 11 [{Rad Sl @l HER
1R T H Juhar | 11 [ 8T &1 &R
_[afd et gumar | 1v [siif® &3 @1 SR

Fafeid [deedl H 4 9l 3Tk &l 94 B ;

1. A-II, B-I. C-IV, D-III

ofofw]

2. A-1I, B-I, C-III, DIV
3. A-L B-II. C-IV., D-III
4. A-1. B-II. C-III. D-IV

Options :

68634025481. 1
68634025482. 2
68634025483. 3
68634025484. 4

Question Number : 72 Question Id : 6863406442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Biosphere Reserve State
Nilgiri Biosphere Reserve I. |Orissa

Simlipal Biosphere Reserve | II. | Tamil Nadu
Manas Biosphere Reserve | IIL | Sikkim
Khang Chend Zonga - :
Biosphere Reserve A

o [o[=]>

Choose the correct answer from the options given below:

1. A-L. B-IL. C-III. D-IV
2. A-TL, B-I. C-III. D-IV
3. A-IL. B-L. C-IV. D-III
4. A-I. B-II. C-IV. D-ITI

Options :

68634025485. 1

68634025486. 2

68634025487. 3
68634025488. 4

Question Number : 72 Question Id : 6863406442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor
A 1 11
EECECAEED| I
A Hiaitidl siaded Hag I [3em
B. [mdiyd SigHesd =g | 1 [GfEaerg
C. [{Hg Yighsd =g 11 [Gigeg
D. [ dlg ST oigHsd Had| IV, [3EH
fafaRad fadedi O 9 9gl TR P 99 Hifult

1. A-I. B-II, C-III. D-IV
2. A-IL B-I, C-IIIL. D-IV
3. A-IL B-1. C-IV, D-III
4. A-L. B-II. C-IV, D-III
Options :
68634025485. 1

68634025486. 2
68634025487. 3



68634025488. 4

Question Number : 73 Question Id : 6863406443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Cell Types Niches
Brain (Neurons & Ventricular & Sub-ventricular
A ; L
Gilia) 7 one
Vesenchyvmal stem
! ) II. Bone marrow
cells
C. [Kupffer cells ITL. [Liver
Hematopoitic stem v A dipose tissue, placenta, bone
" eells " Imarrow

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

. A-TIL B-1I. C-1. D-IV
3. A-L. B-IV, C-III. D-II
4. A-IV, B-III. C-II. D-I

Options :

68634025489. 1
68634025490. 2
68634025491. 3
68634025492. 4

Question Number : 73 Question Id : 6863406443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

I 1T
m?gw g—d
A (AT @ ESIRE AR | 1 [Heg iR 3050y &
B. [HU=P1gd ¥H BIfUra TL |3 Tl
C. [BFHR BIABIY 111 [gdd
D. fadidG® «d BIEel IV. [G9HY 3dd. AU 1 F]
Faferad fdsedi O © 91 STk &1 994 Sy ;

1. A-I. B-II. C-III. D-IV
2. A-IILL B-I1, C-1. D-IV
3. A-L B-IV. C-III. D-II
4, A-IV. B-III. C-II. D-1

Options :

68634025489. 1

68634025490. 2

68634025491. 3
68634025492. 4

Question Number : 74 Question Id : 6863406444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Technique Application

Polymerase chain reaction Specific identification of DNA
AL L

(PCR) molecules
S T L Spec1_f1c identification of

= proteins

. . Cell-free amplification of
C. [Northern blotting L. DMA soleilas
e Eain v Specific identification of RINA

i molecules

Choose the correct answer from the options given below:

1. A-III, B-II, C-IV. D-I

| ]

A-ILL B-1 C-IV, D-III
3. A-IL B-IV. C-1, D-III
4, A-IL B-III. C-1. D-IV

Options :
68634025493. 1



68634025494. 2
68634025495. 3
68634025496. 4

Question Number : 74 Question Id : 6863406444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 g4t 11 9 i ifoy

Tt 1 dFTP T I
A [offeras siaan sfvfea] 1 [3 v v smped @ fafRiy ugee
B. [T =gy 11 [H1IeHT @1 9w gga=
C. [3o = 111 [S1 U9 U U BT 991 BIADT & g8
D. [qi&e ] IV, [3(R U U 3o $1 fafRip ugdH
frafead fasedl & 9 981 9Tk &1 99 Hifulu -

1. A-IIL B-II. C-IV. D-I

| ]

AL B-1L C-IV, D-III
3. A-IL. B-IV. C-I, D-III
4. A-IL B-I1II. C-1. D-IV

Options :

68634025493. 1
68634025494. 2
68634025495. 3
68634025496. 4

Question Number : 75 Question Id : 6863406445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTIT
Order of class Reptilia | Representative animal
A | Squamata I | Tortoise
B. | Crocodilia II. | Tuatara
C. | Chelonia I11. | Gharial
D._ | Rhvnchocephelia | IV | Monitor lizard

Choose the correct answer from the options given below:

1. A-I. B-IV. C-III, D-III

[ ]

. A-IIL B-1, C-III. D-IV
3. A-IV, B-I1I, C-III. D-I
4. A-IV, B-III. C-1. D-II

Options :

68634025497. 1
68634025498. 2
68634025499. 3
68634025500. 4

Question Number : 75 Question Id : 6863406445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
I el 10
W?ﬁwﬁ Frefa
A AT I [Bgan
B [ml@leicm 1L [gUer
C. [Eairan 111 [afard
D. [l | 1v. [{iHieR fsuad]
frafead fdeedl & I wet SR &1 9g- Sife

1. A-I. B-IV. C-II1. D-III
2. A-II, B-I. C-III. D-IV
3. A-IV. B-I1. C-I11. D-1
4. A-IV. B-II1. C-1. D-II

Options :

68634025497. 1

68634025498. 2

68634025499. 3
68634025500. 4



Question Number : 76 Question Id : 6863406446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps involved in cloning of gene mto plasmid:

A. Selection of confirmation of recombinant clones

B. Ligation of the gene of interest and plasmid

C. Amplification of the gene of interest using template DNA

D. Transtormation of bacterium using the recombinant plasmid

E. Restriction endonuclease treatment of the suitable plasmid and gene of interest.

Choose the correct answer from the options given below:

1L.E EB DA

b2

A DL ALR
3.B.A.E.C.D
4. C,BA.D.E

Options :

68634025501. 1
68634025502. 2
68634025503. 3
68634025504. 4

Question Number : 76 Question Id : 6863406446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WSS § Sl gaii-11 & oy f3u 70 =R0 &1 HHER |

A, JAUIS® i ol gA1d 3R gY

B. WIS 3R aifesd wiid &l dR =

C. Ui 81 U7 U BT 3UgT & & difeyd o &I yae—

D. YT WIS BT SaTy] # iUl

E. SUgd WIS 3R difed SiiF &l Uiddy- TSgfaaud & Iy sfifsar

- fau e fawedi # ¥ Hel SR &1 99 S -

1.LC,E.B.ILA

| ]

.E,D.C.A,.B
3B AR LT
4.C.B.A.D.E

Options :

68634025501. 1
68634025502. 2



68634025503. 3
68634025504. 4

Question Number : 77 Question Id : 6863406447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The flow of water in syconoid type of water canal system in sponges follows the course of:

A. Osculum

B. Spongocoel

C. Radial canals
D. Incurrent canals
E. Dermal Ostia

Choose the correct answer from the options given below:

1A—-B—-C —-D—E
2E—-D—-C—-B—A
3.E2C—oD-2-B-2A
4 A—-B—-D—-C—E

Options :

68634025505. 1

68634025506. 2

68634025507. 3
68634025508. 4

Question Number : 77 Question Id : 6863406447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o H IEHATH UHR & o/d 9de-t a3 8 gH1 Ffeiad anf S ssar gl

A. &g
B. Woidid
c. &g Fama
D. SA@E HATd
E. S3Hd Aledr

i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1l A—-B—-C —=D—=E

2Z2E—=D—-C—-B—A
3JE-C—-D—-B—A
4 A—-B—-D—-C—=E

Options :



68634025505. 1
68634025506. 2
68634025507. 3
68634025508. 4

Question Number : 78 Question Id : 6863406448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence involved in transcription and translation process in eukaryotes:

A. mRNA leaves the nucleus and attaches to a ribosome in cytosol
B. RNA processing

C. Transcription

D. Peptic bond formation between amino acids

E. Ribosome assembly

Choose the correct answer from the options given below:
1.C,B.AE D
2.A,B.C.E.D
3:BL A E

4. C.A.B.D.E

Options :

68634025509. 1
68634025510. 2
68634025511. 3
68634025512. 4

Question Number : 78 Question Id : 6863406448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g § Sea iR SUiaR0] &1 Uishal & 9R01 & 95l HH gail:

A G0 IR T T F5T I TR e o) Sife fac H Agaioiy & oy Jsars |
B. {R T U &1 JH1Y |
B

D:aﬁﬁaﬁfﬁaﬁamaﬂmﬁmaﬂm|
E. &S & 99 |
i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

1LE, B.ASD

2L A B0 T
3.B.CA.D.E
4. C.AB.D.E

Options :

68634025509. 1
68634025510. 2
68634025511. 3
68634025512. 4

Question Number : 79 Question Id : 6863406449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the sequence in the mechanism of local inflammatory response:

A. Presence of pathogen at the site of injury

B. Capillaries widen and become more permeable

C. Most cells release histamines

D. Entry of anti-microbial peptides at the site of mjury

E. Signals released by immune cells. attract neutrophills which digest the pathogen and heals the tissue

Choose the correct answer from the options given below:

1.LA.B,C.D.E
2.A.C.B.D.E
3.B.A.C.D,E
4 A C.D.E.B

Options :

68634025513. 1

68634025514. 2

68634025515.3
68634025516. 4



Question Number : 79 Question Id : 6863406449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Yo srfea @t foranfafy &

A. T & W R AUSH ST AT

B. Hi@13H &1 fagdwor iR sifte g giAn

C. URC DI gRI g &1 Hia-

D. i & R R URAME UPEs! &1 0aw

E. uﬁ?&g:?mwﬁ eI (4T 7T Thdl I CIha BT SN SHL. SIS &1 I==1 quT 91 $T
LS|

- fau T fam et & 9 Hel ST &1 99 Difen -

1LLAB.CBE

2Z.AC.B.D.E
3B.A.C.D.E
4 A CDE.B

Options :

68634025513. 1
68634025514.2
68634025515. 3
68634025516. 4

Question Number : 80 Question Id : 6863406450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following toxonomic categories from lower to higher level:

A. Family
B. Class

C. Kingdom
D. Order

E. Species

Choose the correct answer from the options given below:

lLE—-=D—-A—-B—-C

| )

E—=B—A—-D—=C
JE—-A—-B—-D—-C
4 E—-A—-D—=B—-C
Options :

68634025517. 1
68634025518. 2



68634025519. 3
68634025520. 4

Question Number : 80 Question Id : 6863406450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&T T Tl ] B BT 9 88 TR & TR HHaG 3%

i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;

LB sD-sASBQ
LB 4B A D0
3E5A—B—-D—C
AB3ADSBoC

Options :

68634025517. 1

68634025518. 2

68634025519. 3
68634025520. 4

Question Number : 81 Question Id : 6863406451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are both excitatory and inhibitory neurotransmitters. The inhibitory neurotransmitters from the
following are:

A. Glycine

B. y-ammobutyric acid (GABA)
C. Norepmephrine

D. Taurine

E. Glutamate

Choose the correct answer from the options given below:
1. A. C only
2. B, E only
3.A.B.Donly
4.B, C. E only
Options :
68634025521. 1
68634025522. 2

68634025523. 3
68634025524. 4

Question Number : 81 Question Id : 6863406451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dEPTEaR g 3o 3R SaREE UHR & 8ld & | FEfafad § 3 Saviye UPR & dEe™ar! sl
GRS
B. y-HHHISICTARS 35 (71Tal)
C. AR
D. 2RI
E. e

i 45U U [daed] | U Tol 3R &1 944 ST ;

1. A Conly

2.B. E only
3.A.B.D only
4.B. C.E only

Options :

68634025521. 1
68634025522. 2
68634025523. 3
68634025524. 4



Question Number : 82 Question Id : 6863406452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Following are the characteristics of Molluse's:

A Mollusc's are protostomes. have coelom reduced to cavities surrounding heart. nephridia and gonads.

B. Mollusc's members possess a head-foot. visceral mass. mantle and mantle cavity.

C. The rasping organ consists of muscular belt with rows of posteriorly curved teeth.

D. The molluscan body form in the cephalopoda undergoes a 180° anti-clockwise twisting of visceral mass.

E. Protostome characteristics for molluses also include trocophore larvae spiral cleavage and
schizococelous coelom formation.

Choose the set with correct statements from the options given below:
1. A. B and C only
2.B. Cand D only
3.A. BandE only

4. C.D and E only

Options :

68634025525. 1
68634025526. 2
68634025527. 3
68634025528. 4

Question Number : 82 Question Id : 6863406452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HgHad o AP T80 TgETHT

A TgHad| UIeRE M B, 5101 Wi, TeH1ei H Ue=d ¢ S gad. 3o ® 3R S--T01a] & el g |
B. Ggdaradl 4 RR, Ul o< 4o, Hed 3R H<d 11 gl ¢

C. Tﬁt‘mwﬂﬁﬁuaﬁ'@wm%mﬁwmmﬁﬁqﬁﬂmaﬁ%

D. Yghal=di ®l YRR =1 dibddrsi § 180° aﬁwwmmw RIS, 3T Us | axiidi 5|

E. Hgopd=dl o Ui 3Ry d&ful <R dRdl, T1gRd [dgad iR AgeHiad gl &1 g1

i fSu U [doedl | U Yol 3R &1 994 S ;

1. A. B and C only

2.B. C and D only
3.A.BandE only
4.C.D and E only

Options :



68634025525. 1
68634025526. 2
68634025527. 3
68634025528. 4

Question Number : 83 Question Id : 6863406453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Mechanism Intercellular Communication
A | Direct Communication| I. | Blood stream
B. | Paracrine II. | Gap junction
C. | Endocrine I1I. | Extracellular fluid
D.

Synaptic transmission | IV, | Across synaptic cleft

Choose the correct answer from the options given below:

1. A-II, B-III. C-I. D-IV

| ]

A-L B-II, C-III. D-IV

LFS]

CA-IV, B-IIIL. C-I1. D-I
4, A-IIL B-1I. C-L. D-IV

Options :

68634025529. 1
68634025530. 2
68634025531. 3
68634025532. 4

Question Number : 83 Question Id : 6863406453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

I I

Br | s
i JaR 1 Rad umn

EREAER 11 [SfeRTed DY (19 Sar)
EGRIE 111 [ IPTaTEl G0
STIYT T IV. [3iciiu-t GiR & UR

Fafiad Aol § O 981 SR &1 90 S ;

1. A-II, B-I11, C-I. D-IV

ofofwl»

-2

cA-L B-II, C-III. D-IV
3. A-IV. B-IIL. C-II. D-I
4, A-IIL, B-II. C-1. D-IV

Options :

68634025529. 1
68634025530. 2
68634025531. 3
68634025532. 4

Question Number : 84 Question Id : 6863406454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teratogens are:

A. Environmental compounds that can alter development.

B. Act at specific times when certain organs are farming.

C. The teratogen class includes drugs. chemicals. viruses and radiations.

D. Heavy metals such as zinc are teratogens but lead and mercury are not considered as teratogens.

Choose the correct answer from the options given below:
1. A. B and D only
2. A . Cand D only
3. A. B and C only

4. Aand D only

Options :

68634025533. 1
68634025534.2
68634025535. 3
68634025536. 4



Question Number : 84 Question Id : 6863406454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. qgiaRul Giffe S gfs § uRad dd 5

B. U® [Huflvd 999 W= Iishd gid & 9id o 371l I (HHI0r gl IgT sl & |

c. foegoH & @l § afrd €. S, I919H, IRy 3R faferuf

D, U o1 SR ST a9 9= § faheg] ST 3{R IR &1 faedoid el A1 S|

A fau 7T fawedi # 9 Hel SR &1 99 Difo:
1. %adA. B 3R D
2. %I A, C 3R D
3. HITA.B3IRC
4. Had A 3R D

Options :

68634025533. 1
68634025534. 2
68634025535. 3
68634025536. 4

Question Number : 85 Question Id : 6863406455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Proteins can be separated according to size by following techniques except:

A Isoelectric focusing

B. SD5-PAGE

C. Ton exchange chromatography

D. Molecular exclusion chromatography

Choose the correct answer from the options given below:
1. A and B only
2. B and C only
3.Cand D only

4. A and C only

Options :

68634025537. 1
68634025538. 2
68634025539. 3
68634025540. 4



Question Number : 85 Question Id : 6863406455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafeiaa @ O & [t & grR1UidH &1 396 PR & YR IR JY$ g a1 ol 9obal 8|

A. JEYUNEC S Bib G|
B. U9 Sl 09 -UF|

C. 3O Taeo gufaif@d!
D. 31figs fafmg aufafast

Hid U U [doed] | ¥ 9ol 3R &1 944 S IolU;
1. $adAIRB
2. PAUB AR C
3.%dd C R D
4.%9q ASRC

Options :

68634025537. 1
68634025538. 2
68634025539. 3
68634025540. 4

Question Number : 86 Question Id : 6863406456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following statements are associated with human female reproductive physiology.

A. The uterine cycle during menstruation includes follicular phase. ovulation and luteal phase.
B. The degeneration of corpus luteum is called luteolysis.

C. An increase in plasma progesterone level synchronises with the luteal phase.

D. After oocyte maturation. ovulation takes place.

Choose the correct answer from the options given below:
1.A.B.C.Donly
2.A C.Donly
3.A.B.Donly
4.B.C.D only
Options :
68634025541. 1

68634025542. 2
68634025543. 3



68634025544. 4

Question Number : 86 Question Id : 6863406456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad & ¥ Ama Arer o= IR o fogm @ d6fia sya sifeul

A, 3MTcia THIRG 956 B ISTHH & SR Yoo 1 Wawd, Siart SR didfts man st 81
B i fiis & e & cfeiaTE i Ped 2|

C. IO H g dl g Uioieg (4 Uld WIaRIT & F1Y FHId e didl o
D. 35 URUEdl & UL S giaT 3|
4 fau e famedl & 9 98l SR @1 904 Sifey
1.%dd A, B.C.D
2. HAAA.C.D
3.%dd A.B.D

4.%4d B.C.D

Options :

68634025541. 1
68634025542. 2
68634025543. 3
68634025544. 4

Question Number : 87 Question Id : 6863406457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: During gel electrophoresis. DNA moves from anode to cathode.
Reason R: DNA is negatively charged.

In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4, A is not correct but R is correct

Options :

68634025545. 1
68634025546. 2
68634025547. 3



68634025548. 4

Question Number : 87 Question Id : 6863406457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 U AU T §, UF SIS YT A(Assertion A) & U H [ARGT § ol GERT 39D PRI R(Reason
Ry&¥4H

SfHFYT A: TOSAa PRITY & GRMA o T1 T HUS T TS B IR 90 Il ¢

PRUTR: 31 U7 UH HUTES AEW G

SWRIe HUF & 3dlie 4, A< U T fdeedl & I wad 3ugad Sar &l 94 & 1ulu
1. A 3R REH 961 € AR R, AP TEI RS ©

A SIRREHI T8l § SIRR. A®| Ug! ARA 51 ¢

3. ATR AR TS R

4. A TR TR ¢ AfbT R WG ©

Options :

68634025545. 1
68634025546. 2
68634025547. 3
68634025548. 4

b2

Question Number : 88 Question Id : 6863406458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

A. Tumor cells differ from normal cells by changes in the regulation of growth.
B. Proto-oncogenes encode defective proteins.

C. Tumor cells can display tumor-specific antigens/novel antigens.

D. Several cytokines including IFN and TNF help to mediate tumor-cell killing.

Choose the correct answer from the options given below:

1. A Cand D only

[ ]

.B. CandD only
3. A.Band C only
4. A. B and D only
Options :

68634025549. 1
68634025550. 2



68634025551. 3
68634025552. 4

Question Number : 88 Question Id : 6863406458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiad # 9 9el HY= $1 g9 B

A. 3(EE DIRABTY FYRY DIRB137 F et Bl &, iTeh 311 gieg; bl =01 SRFT BT 8 1
B. Tiel3f~pioi Faiy WicH T feora &d o

C. S DIAPIL, e ARy fqor/ fafam vfae= &1 vex 76 @2 9|
D. 3@ WIgCIdHIg ol IFN 3R TNF & BRI &l 7§ &3 & Gy gidi g |

=i fau v f[d@redl § O 98l 3Tk &1 9494 HIau:
1. AT A, C IR D
2. &dd B.Cand D
3.%a9 A.B3RC
4.%ad A.B3RD

Options :

68634025549. 1
68634025550. 2
68634025551. 3
68634025552. 4

Question Number : 89 Question Id : 6863406459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the primates in order from oldest to recent in terms of evolution:

A. Old world monkeys
B. Orangutons
C. Gibbons
D. Gorillas
Choose the correct answer from the options given below:
1.B.ALC.D
2.A.C.B.D
3.B.C.A.D
4. A.C.D.B

Options :
68634025553. 1



68634025554. 2
68634025555. 3
68634025556. 4

Question Number : 89 Question Id : 6863406459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad Urgtcd o [de/ & YR TR QR ¥ Fdi-ad $H 1 forar:
A, 31T I §ox
B. I
c. firssg
D. TRl
i faU T faeedl § § gl 3Tk &1 994 Hifeiu:

1.B.ALC.D

[ ]

LA C.B.D
3.B.C.A.D
4 A CDB

Options :

68634025553. 1
68634025554. 2
68634025555. 3
68634025556. 4

Question Number : 90 Question Id : 6863406460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the major thematic events of xenopus gastrulation from early to late stage.

A. Epiboly of the ectoderm around the entire embryo.

B. Extension of the body along anterior-posterior axis.

C. Formation of bottle cells and internalisation of the endoderm and mesoderm.
D. Cortical rotation and formation of grey crescent.

Choose the correct answer from the options given below:

1l A—-B—-C—=D

| )

.B—=C—=D—A
3C—-A—-D—B
4 D—-C—A—B

Options :
68634025557. 1



68634025558. 2
68634025559. 3
68634025560. 4

Question Number : 90 Question Id : 6863406460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DD DI BT YIS DI 3RY H 3id db HHG DIY:

A UU YU & YT STr=H B SIRIgu

B. YRR P 3-U% 38 H [GedR

C. SICe DIRABTS BT a1 YT AT AR TS B S gHl
D. BRICHS Ui TUT YR a5 &1 a1

- fau e fawedi # 9 Hel ST &1 99 Sifo:

l1lA—-B—-C—D

| ]

B—-C—=D—A
3 C—-A—-D—B
4 D—-C—-A—B

Options :

68634025557. 1

68634025558. 2

68634025559. 3
68634025560. 4

Question Number : 91 Question Id : 6863406461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In TCA cycle. suceinyl CoA synthetase is involved i the conversion of:

1. o< - ketoglutaric acid to succinyl CoA

| ]

. Succinic acid to fumaric acid
3. Succinyl CoA to suceinic acid
4. Succinic acid to © - ketoglutaric acid

Options :

68634025561. 1
68634025562. 2
68634025563. 3
68634025564. 4

Question Number : 91 Question Id : 6863406461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
3t it v gepur & giduamad oi-u ey, &1 o Fafafaa § O st foud sgan e
1. o - BHICHCIND 3T Bl HGgAad HITH
2. Afge 3 &I WHRS 3w d
3. QiGE0d $I-U DI Fieg-e e o
4. AFHD T B oc - PICHACRD 3 T

Options :

68634025561. 1
68634025562. 2
68634025563. 3
68634025564. 4

Question Number : 92 Question Id : 6863406462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following statements are related to sensory tissues of animals.

A. Proprioceptors are commonly called 'stretch receptors’ that respond to mechanically-induced changes.

B. Certain flagellated protozoa like Euglena that contains chlorophyll possess a mass of bright red
protoreceptor granules called stigma.

C. Neuromasts' are the primary photoreceptors in sharks. some fishes and aquatic amphibians.

D. Meissner's corpuscles and Paciman corpuscles primarily help to detect chemical stimulus in animals.

E. Most reptiles possess Jacobson's (Vomeronasal) organs for olfactory reception.

Choose the set of correct statements from the options given below:
1. A B and E only
2. B, C and D only
3.C.Dand E only

4. A. D and E only

Options :

68634025565. 1
68634025566. 2
68634025567. 3
68634025568. 4

Question Number : 92 Question Id : 6863406462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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.B. C and D only
3.C.D and E only

4. A. D and E only

Options :

68634025565. 1
68634025566. 2
68634025567. 3
68634025568. 4

Question Number : 93 Question Id : 6863406463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Autoclaving 1s used as a sterilisation technique. The conditions used for autoclaving are:

1. 99° C and 20 PSi

b2

105° C and 10 PSi
3.121° Cand 15 P81
4.100° C and 15 PSi

Options :

68634025569. 1
68634025570. 2
68634025571. 3
68634025572. 4

Question Number : 93 Question Id : 6863406463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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121° C 31X 15 PSi
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4.100° C 3 15 PSi

Options :

68634025569. 1
68634025570. 2
68634025571. 3
68634025572. 4

Question Number : 94 Question Id : 6863406464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The gradient used in ultracentrifugation for fractionation of DNA 1s:
1. CsCl
2. NaCl

3. Glucose

4. fructose

Options :

68634025573. 1
68634025574. 2
68634025575. 3
68634025576. 4

Question Number : 94 Question Id : 6863406464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEfad o 9 & i Uauidl &1 SUgRT ST U U e YUISH & A0 §d U0l § &a1 Sl 82
1. CsCl

2. NaCl

3. TP
4. Wacig

Options :



68634025573. 1
68634025574. 2
68634025575. 3
68634025576. 4

Question Number : 95 Question Id : 6863406465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In normal cells, progress through the cell cycle 1s tightly regulated and each step must be completed before the
next step can begin. There are at least three distinct points in the cell cyele at which the cell monitors external
signals and internal equilibrium before proceeding to the next stage. These are the G1/S. the G2/M and M
checkpomts.

In addition to regulating the cell cycle at the checkpoints, the cell controls progress through the cell eycle by
means of two classes of proteins: cycling and cyclin-dependent kinases (CKDs).

Based on the above context. answer the following questions:

Event that occurs at G1/S checkpoint 1s:

1. Cell monitors DNA synthesis and damage

2

. Cell monitors spindle formation
3. Attachment to kinetochores
4, Cell monitors size and DNA integrity

Options :

68634025577. 1
68634025578. 2
68634025579. 3
68634025580. 4

Question Number : 95 Question Id : 6863406465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025577. 1
68634025578. 2
68634025579. 3
68634025580. 4

Question Number : 96 Question Id : 6863406466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In normal cells, progress through the cell cycle is tightly regulated and each step must be completed before the
next step can begin. There are at least three distinet points in the cell cycle at which the cell monitors external
signals and internal equilibrium before proceeding to the next stage. These are the G1/S, the G2/M and M
checkpoints.

In addition to regulating the cell cycle at the checkpoints, the cell controls progress through the cell eycle by
means of two classes of proteins: cyclins and cyclin-dependent kinases (CKDs).

Based on the above context. answer the following questions:

Given below are two statements:

Statement I: Continuously dividing cells do not exit the cell cycle but they proceed through G1. S, G2 and M
phase.

Statement IT: Cancer cells are unable to enter GO phase.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

2

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634025581. 1
68634025582. 2
68634025583. 3
68634025584. 4



Question Number : 96 Question Id : 6863406466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025581. 1
68634025582. 2
68634025583. 3
68634025584. 4

Question Number : 97 Question Id : 6863406467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In normal cells. progress through the cell cycle s tightly regulated and each step must be completed before the
next step can begin. There are at least three distinct points in the cell cycle at which the cell monitors external
signals and internal equilibrium before proceeding to the next stage. These are the G1/S. the G2/M and M
checkpoints.

In addition to regulating the cell cycle at the checkpoints, the cell controls progress through the cell cycle by
means of two classes of proteins: cyclins and cyclin-dependent kinases (CKDs).

Based on the above context. answer the following questions:

Choose the correct statement:

1. Cyclin D2 accumulates during early G1 phase

[

. Cyclin E appears during S phase
3. Cyclin B peaks during M phase
4. Cyclin A appears during late G1 phase

Options :

68634025585. 1
68634025586. 2
68634025587. 3
68634025588. 4

Question Number : 97 Question Id : 6863406467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025585. 1
68634025586. 2
68634025587. 3
68634025588. 4

Question Number : 98 Question Id : 6863406468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The hill ranges of Western Ghats of India are rich in biodiversity with tropical evergreen and rain forests. The
flora and fauna are unique to the place. Many animal species like Nilgiri Tahr and Lion-tailed macaque are
endemic to this region. Many bright - coloured frogs are discovered from this region. We must preserve our
biodiversity from pollution. human greed. habitat destruction for our future generations.

Based on the above context. answer the following questions :

Given below are two statements: one 15 labelled as Assertion A and the other 15 labelled as Reason R.
Assertion A: Western Ghats of India is one of the biodiversity hotspots.

Reason R: The criteria for categorisation as a biodiversity hotspot 1s high number of endemic species (at least
1500 species of vascular plants). the region must have lost 30% of its natural vegetation.

In the light of the above statements. choose the mosr appropriate answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Options :

68634025589. 1
68634025590. 2
68634025591. 3
68634025592. 4

Question Number : 98 Question Id : 6863406468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025589. 1
68634025590. 2
68634025591. 3
68634025592. 4
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Question Number : 99 Question Id : 6863406469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The hill ranges of Western Ghats of India are rich in biodiversity with tropical evergreen and rain forests. The
tlora and fauna are unique to the place. Many animal species like Nilgiri Tahr and Lion-tailed macaque are
endemic to this region. Many bright - coloured frogs are discovered from this region. We must preserve our

biodiversity from pollution. human greed, habitat destruction for our future generations.

Based on the above context. answer the following questions :

Nilgir: Tahr 1s an:

1. Endangered species

2

. Critically endangered species
3. Vulnerable species

4, Least concern

Options :

68634025593. 1
68634025594, 2
68634025595. 3
68634025596. 4



Question Number : 99 Question Id : 6863406469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634025593. 1
68634025594. 2
68634025595. 3
68634025596. 4

Question Number : 100 Question Id : 6863406470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The hill ranges of Western Ghats of India are rich in biodiversity with tropical evergreen and rain forests. The
flora and fauna are unique to the place. Many animal species like Nilgiri Tahr and Lion-tailed macaque are
endemic to this region. Many bright - coloured frogs are discovered from this region. We must preserve our
biodiversity from pollution. human greed, habitat destruction for our future generations.

Based on the above context. answer the following questions :

Some frogs such as poison dart frog exhibit bright coloration which serves as a warning signal for its
predators. It 1s known as:

1. Batesian mimicry
2. Aposematism

3. Cryptic coloration
4. Camouflage

Options :



68634025597. 1
68634025598. 2
68634025599. 3
68634025600. 4

Question Number : 100 Question Id : 6863406470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634025597. 1
68634025598. 2

68634025599. 3
68634025600. 4



